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QUESTION 1

You work for a service provider and need to build EVPN service which provides an active/active multihorning topology
using a single CE at each site. In this scenario, which two statements are true? (Choose two.) 

A. An Ethernet segment appears as a LAG to the CE device. 

B. A backup designated forwarder is elected for forwarding BUM traffic to the CE device 

C. TheEthernet segment identifier must be an all zeros identifier 

D. A designated forwarder is elected for forwarding BUM traffic to the CE device. 

Correct Answer: A 

 

QUESTION 2

You are asked to configure PIM-SM in your network. Your implementation must allow for load sharing between
redundant RPs and, should an RP failure occur, the RP failover time should be minimized. 

Which two configuration tasks are required in this scenario? (Choose two.) 

A. Configure MSDP peering sessions between the routers designated as RPs. 

B. Configure at least two static RPs and bundle them in an RP redundancygroup under [edit protocols pim]. 

C. On the routers designated as RPs, configure the shared anycast address on the loopback interface 

D. Configure the shared anycast address on the RPs as the primary address on the loopback interface. 

Correct Answer: BD 

 

QUESTION 3

Refer to the exhibit. 
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Your network engineer reported that they lost BGP connectivity to the neighbor 192.163.6.4 one hour ago, for five to ten
minutes. 

What are two ways to determine what happened? (Choose two.) 

A. Run the show bgp neighbor orf 192.163.6.4 detail command. 

B. View the information on the BGP monitoring station at 192.168.44.100. 

C. Run the show log bgptrace command and search for the time of the lost connectivity. 

D. Run the show log messages command and search for the time of the lost connectivity. 

Correct Answer: BD 

 

QUESTION 4

Which authentication method secures IS-IS hello, link-state, and sequence number PDUs? 

A. Level authentication 

B. Interface authentication 

C. Area authentication 

D. Domain authentication 

Correct Answer: A 

 

QUESTION 5

Which two statements regarding OSPFv2 or OSPFv3 authentication are correct? (Choose two.) 

A. OSPFv2 supports MD5 authentication. 

B. OSPFv2 supports MD5 or SHA authentication. 

C. OSPFv2 relies on the native security stack that uses IPsec. 

D. OSPFv3 relies on the native security stack that uses IPsec. 

Correct Answer: D 

 

QUESTION 6

Click the Exhibit button. 
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Referring to the exhibit button, you are asked to ensure that traffic destined for the 5 5.5.0/24 network must use the LSP
named Top Which two actions would you perform to accomplish this task*? (Choose two) 

A. Apply the policy as an import policy for BGP on R1 

B. Create a routing policy that matches the route 5.5.5.0/24 with an action of install- nexthop Isp Top. 

C. Create a routing policy that matches the route 5.5.5.0/24 with an action of next-hop Top. 

D. Apply the policy to the forwarding table on R1. 

Correct Answer: BD 

 

QUESTION 7

Refer to the exhibit. 

Which statement is true? 

A. OSPF neighbor 192.168.158.103 is least likely to be selected as the designated router. 
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B. OSPF neighbor 192.168.158.103 is most likely to be selected as the designated router. 

C. OSPF neighbor 192.168.158.103 is ineligible to be selected as the designated router. 

D. OSPF neighbor 192.168.158.103 is second most likely to be selected as the designated router. 

Correct Answer: A 

 

QUESTION 8

An MX Series router has received a BGP prefix from its peer. There are multiple destination routes to the BGP prefix
with the default BGP route preference. In this scenario, what is the first tie-breaker used to select the destination route? 

A. lowest MED 

B. shortest cluster list length 

C. highest local preference 

D. lowest origin code 

Correct Answer: C 

 

QUESTION 9

-- Exhibit 

-- Exhibit -

Click the Exhibit button. 

Referring to the exhibit, you see the proper BGP, MPLS, and routing instance configuration for PE1 and PE2. 

Which configuration on PE1 will allow CE1 to communicate with CE2 over a Layer 2 VPN, assuming PE2 has PPP TCC
encapsulation on so-0/0/0.0? 

A. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.2; } remote { inet-address 192.168.1.1; } } 

B. [edit interfaces fe-0/2/2 unit 42] family tcc { remote { inet-address 192.168.1.2; } } 

C. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.1; } } 
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D. [edit interfaces fe-0/2/2 unit 42] family tcc { proxy { inet-address 192.168.1.1; } remote { inet-address 192.168.1.2; } } 

Correct Answer: A 

 

 

QUESTION 10

-- Exhibit ? 

-- Exhibit -Click the Exhibit button. 

You are the administrator for AS 1111 and you want to inform the neighboring AS to use router A2 as the ingress path
into your local AS. 

Referring to the exhibit, which policy statement action for the export policy on A2 will perform this task? 

A. set policy-options policy-statement export term 10 then metric 120 

B. set policy-options policy-statement export term 10 then external 

C. set policy-options policy-statement export term 10 then metric 25 

D. set policy-options policy-statement export term 10 then priority low 

Correct Answer: C 

 

QUESTION 11

What are two characteristics of L3VPNs? (Choose two ) 

A. Matching route targets are required for L3VPNs to function correctly. 

B. Multiprotocol BGP is required for L3VPNs to function correctly. 

C. The IPv4 NLRI is required for L3 VPNs to function correctly. 

D. Matching route distinguishes are required for L3VPNs to function correctly 
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Correct Answer: AD 

 

QUESTION 12

You are connecting your OSPF router to your customer\\'s RIP router and redistributing the customer\\'s routes into your
OSPF domain. Your OSPF routes is part of an NSSA and the ABR is injecting an OSPF default route, which you have
advertised to your customer After committing the configuration, you notice a routing loop between your OSPF router and
the customer\\'s RIP router 

Which action must you perform on your OSPF router to solve this problem? 

A. Enable Type 7-to-Type 5 LSA conversion. 

B. Set the customer-facing interface to passive. 

C. Convert the area to a stub area 

D. Change the OSPF external route preference. 

Correct Answer: D 
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